
CHEMISTRY

JEE MAIN AND ADVANCED

SOME BASIC CONCEPT OF CHEMISTRY

Example

1. Classify the following as pure substances or

mixtures, give reasons. 

(i) Graphite (ii) Milk 

(iii) Air (iv) Diamond

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lME1Tf4N85DN


Watch Video Solution

2. Identify the following as homogeneous and

heterogeneous mixture. 

(i) Aerated drinks (ii) Brass

Watch Video Solution

3. Express the following in scientific notation. 

(1) 175000 

(2) 0.17

Watch Video Solution

https://dl.doubtnut.com/l/_lME1Tf4N85DN
https://dl.doubtnut.com/l/_UZObaFMvkfBq
https://dl.doubtnut.com/l/_uXvolZXkEmG3
https://dl.doubtnut.com/l/_fgh5j7avIbDh


4. Express the following mathematical operations in

scientific notation. 

(1)  


(2) 

Watch Video Solution

(6.6 × 105) × (7.7 × 109)

(6.6 × 105) × (7.7 × 10− 7)

5. Express the following mathematical operations in

scientific notation 

(1)  

(2) 

Watch Video Solution

7.7 × 109

6.6 × 105

7.7 × 10− 7

6.6 × 105

https://dl.doubtnut.com/l/_fgh5j7avIbDh
https://dl.doubtnut.com/l/_lhyFn2QEQlco


6. Express the following mathematical operations in

scientific notation 

(1)  

(2) 

Watch Video Solution

(7.7 × 104) + (0.77 × 105)

8.7 × 104

0.77 × 105

7. Express the following numbers to four significant

figures. 

(1) 6.608792 (2) 42.392800

Watch Video Solution

https://dl.doubtnut.com/l/_EQW40qWIl5xY
https://dl.doubtnut.com/l/_iFjf8gXWrcWc


8. Express the following numbers to four significant

figures. 

(1)  


(2) 0.008837

Watch Video Solution

1.81234 × 103

9. What is the sum of 3.368 kg and 2.02 kg ?

Watch Video Solution

10. The mass of wood block is 6.932 g. If density of

wood is , what is its volume ?7.7g/cm3

https://dl.doubtnut.com/l/_Ov0ZKHJInft2
https://dl.doubtnut.com/l/_gPzKAtytgPD2
https://dl.doubtnut.com/l/_qL2hgxIFXQ0r


Watch Video Solution

11. Express the following calculations to the proper

number of significant figures. 

Watch Video Solution

(2.34 × 10− 8)(0.5)

6.4

12. 10.0 g of  on heating gave 4.4 g of 

and x g of CaO. Applying law of conservation of mass

calculate the mass of CaO.

Watch Video Solution

CaCO3 CO2

https://dl.doubtnut.com/l/_qL2hgxIFXQ0r
https://dl.doubtnut.com/l/_KssUk9ZVPYyH
https://dl.doubtnut.com/l/_Zs9dbEl896pG


13. Copper oxide was prepared by two different

methods. In case, 1.75 g of the metal gave 2. 19 g of

oxide. In the second case, 1.14 g of the metal gave 1.43

g of the oxide, show that the given data illustrate the

law of constant proportions.

Watch Video Solution

14. Hydrogen and oxygen are known to form two

compounds. The hydrogen content in one of these is

5.93% while in the other it is 11.2%. Show that this

data illustrates the law of multiple proportions.

Watch Video Solution

https://dl.doubtnut.com/l/_OcmR3y9pfg8u
https://dl.doubtnut.com/l/_9irSldEUrSB0


15. Nitrogen occurs in nature in the form of two

isotopes with atomic mass 14 and 15 respectively. If

average atomic mass of nitrogen is 14.0067, what is

the % abundabce of the two isotopes ?

Watch Video Solution

16. Calculate mass of one atom of nitrogen in gram.

Watch Video Solution

https://dl.doubtnut.com/l/_9irSldEUrSB0
https://dl.doubtnut.com/l/_n9g5Fh9TTdkB
https://dl.doubtnut.com/l/_iqtWMFJfTOBc


17. Calculate mass of one molecule of methane

Watch Video Solution

(CH4)

18. How many moles of H, are present in 4.9 g 

?

Watch Video Solution

H2SO4

19. The mass of a molecule of water is

Watch Video Solution

https://dl.doubtnut.com/l/_EF1u8XXb9i9V
https://dl.doubtnut.com/l/_TwcEgAzjbFIT
https://dl.doubtnut.com/l/_rU11NCaDi1rS


20. Calculate the number of atoms in 

(1) 1 mole of nitrogen  

(2) 1 mole of phosphorous molecules . 

(3) 0.05 g of water

Watch Video Solution

N2

P4

21. Calculate the number of molecules in 1 ml of  at

NTP.

Watch Video Solution

O2

https://dl.doubtnut.com/l/_akPWZo5vAgCy
https://dl.doubtnut.com/l/_PDcTB6aD6XSu


22. Calculate the volume occupied at NTP by (i) 2.5

mole of carbon dioxide (ii) 14 g of nitrogen gas

Watch Video Solution

23. Calculate the number of ions, number of oxygen

atom and total charge in 3 gm 

Watch Video Solution

CO2 −
3

24. Calculate the mass of 2.5 g atom of oxygen.

Watch Video Solution

https://dl.doubtnut.com/l/_p95ZtaLQAMlS
https://dl.doubtnut.com/l/_0JAgis5jJPZi
https://dl.doubtnut.com/l/_MyRoSE4lwjN8


25. Calculate number of molecules in 1 ml of  at

NTP.

Watch Video Solution

Co2

26. Calculate number of atoms in 3 mol of 

Watch Video Solution

NH3

27. An enzyme contains 5.6% Fe, calculate number of

Fe atoms present in 1g of enzyme.

Watch Video Solution

https://dl.doubtnut.com/l/_gTRXIDfwD2Zr
https://dl.doubtnut.com/l/_3IGMJWBScaG9
https://dl.doubtnut.com/l/_emJ6EvV4SInX


28. Find the equivalent weight of 

(a)  (b)  (Mol

mass = M)

Watch Video Solution

CaCO3 K2SO4. Al2(SO4)3. 24H2O

29. What is the equivalent weight of hydride of metal

if equivalent weight of its oxide is 20?

Watch Video Solution

30. Calculate equivalent weight of  and 

 on the basis of given reaction. 


H3PO4

Ca(OH)2

https://dl.doubtnut.com/l/_eY4Gx0wef55H
https://dl.doubtnut.com/l/_APaDub1LZFbE
https://dl.doubtnut.com/l/_YQLEDGuiqsDH


 


Watch Video Solution

H3PO4 + NaOH → NaH2PO4 + H2O

Ca(OH)2 + HCL → Ca(OH)CL + H2O

31. Find the percentage of calcium in calcium

carbonate .

Watch Video Solution

(CaCO3)

32. What is the simplest formula of the compound

which has the following percentage composition -

Carbon 80%. Hydrogen 20% ? If the molecular mass

is 30, calculate its molecular formula.

https://dl.doubtnut.com/l/_YQLEDGuiqsDH
https://dl.doubtnut.com/l/_Vdl6NY0R5Wso
https://dl.doubtnut.com/l/_545cHYJhIiFq


Watch Video Solution

33. A compound on analysis gave the follwing result

C=54.54%,H=9.09% and vapour density of compound

= 88.Determine the molecular formula of the

compound :-

Watch Video Solution

34. An inorganic substance on analysis gave the

following results Na = 29.1%, S = .40.5% and O =

30.4%. Calculate its empirical formula.

Watch Video Solution

https://dl.doubtnut.com/l/_545cHYJhIiFq
https://dl.doubtnut.com/l/_gTP5OvRGLWYr
https://dl.doubtnut.com/l/_orp8AOnyjnBL


35. How many gram of oxygen  is required to

completely react with 0.200 g of hydrogen  to

yield water  ? Also calculate the amount of

water formed (molecular mass H = 2, O = 32).

Watch Video Solution

(O2)

(H2)

(H2O)

36. How much magnesium sulphide can be obtained

from  of  and  of  by the reaction. 


. Which is the limiting reagent?

Calculate the amount of one of the reactants which

remains unreacted?

2.00g Mg 2.00g S

Mg + S → MgS

https://dl.doubtnut.com/l/_orp8AOnyjnBL
https://dl.doubtnut.com/l/_Tmr5P43BLK2B
https://dl.doubtnut.com/l/_MLsVPPeNAbgx


Watch Video Solution

37. Calculate volume of carbon dioxide produoed on

heating 10 g of limestone at S.T.P.

Watch Video Solution

38. Calculate number of moles of Na2so4 produced

from 1 mole of NaOH 

Watch Video Solution

2NaOH + H2SO4 → NaSO4 + 2H2O

https://dl.doubtnut.com/l/_MLsVPPeNAbgx
https://dl.doubtnut.com/l/_6u6VZ1326xaG
https://dl.doubtnut.com/l/_bqaO6UFXq899


39. Calculate mass of  produced by heating 40 g

of 20% pure limestone,

Watch Video Solution

CO2

40. How many moles of lead nitrate is needed to

produce 224 litre of oxygen at NTP?

Watch Video Solution

41. Calculate the amount of 50%  required to

decompose 25g calcium carbonate :-

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_ssMSdLd76YPZ
https://dl.doubtnut.com/l/_83VP3zL3qxnP
https://dl.doubtnut.com/l/_tsBUvJcSOaf2


Watch Video Solution

42. A solution is prepared by adding 5 g of a

substance x to 18 g of water. Calculate the mass

percent of the solute.

Watch Video Solution

43. A solution is prepared by adding 360 g of glucose

to 864 g of water. Calculate mole fraction of glucose

(molar mass of glucose = 180).

Watch Video Solution

https://dl.doubtnut.com/l/_tsBUvJcSOaf2
https://dl.doubtnut.com/l/_RgdcOrk9RMD0
https://dl.doubtnut.com/l/_f8hpYMmcVd9r
https://dl.doubtnut.com/l/_UBCWZbxjv0Zt


44. A given solution of NaOH contains 4.00 g of

NaOH per litre of solution. Calculate the molarity of

this solution.

Watch Video Solution

45. A solution is prepared by dissolving 1.0g of NaOH

in water to get 250 ml of solution. Calculato its

molarity.

Watch Video Solution

https://dl.doubtnut.com/l/_UBCWZbxjv0Zt
https://dl.doubtnut.com/l/_uYgFf6BREg0y


46. How many moles and how many grams of HCI are

present in 250 ml of 0.5 M HCl solution?

Watch Video Solution

47. 1.26 of hydrated oxalic acid was dissolved in water

to prepare 250 ml of solution. Calculate molarity of

solution

Watch Video Solution

48. A solution contains 10 moles of sucrose in 1 kg of

solvent. Calculate the molality of solution.

https://dl.doubtnut.com/l/_D4rl66dbFeLQ
https://dl.doubtnut.com/l/_1PfXlFsizmsz
https://dl.doubtnut.com/l/_WBHqcxD11mN8


Watch Video Solution

49. Calculate the molality of a solution containing 5.3

g of anhydrous  in 400 g of water,

Watch Video Solution

Na2CO3

50. How many gram equivalents of  are

present in 200 ml of  solution?

Watch Video Solution

H2SO4

H2SO4
N

10

https://dl.doubtnut.com/l/_WBHqcxD11mN8
https://dl.doubtnut.com/l/_f0GQyKI2D5SA
https://dl.doubtnut.com/l/_giEn1WhKcRxa


Try Yourself

51. 100 ml decinormal HCl is mixed to 100 ml

seminormal  solution. Calculate normality of

resulting mixture

Watch Video Solution

H2SO4

52.   is mixed into 

. Calculate normality of resulting

mixture.

Watch Video Solution

200ml
N

10
H2SO4

300ml NaOH
N

100

https://dl.doubtnut.com/l/_ToG145K57FXi
https://dl.doubtnut.com/l/_cuZqUBBkwQEL


1. Identify the following as homogeneous and

heterogeneous mixtures. 

(i) Sugar dissolved in water. 

(ii) Oil and water

Watch Video Solution

2. Identify the following as homogeneous and

heterogeneous mixtures. 

(i) Alcohol and water 

(ii) Sand and iron filings

Watch Video Solution

https://dl.doubtnut.com/l/_4kJBUK3asiGx
https://dl.doubtnut.com/l/_E5lSJinImG2w
https://dl.doubtnut.com/l/_TGT1UpBhtZrg


3. Express 900.00 in scientific notation.

Watch Video Solution

4. Express  in scientific

notation.

Watch Video Solution

(2.2 × 104) × (3.3 × 105)

5. Express the following number to two significant

figures 

(i) 5.602792 

(ii) 3.3402800

https://dl.doubtnut.com/l/_TGT1UpBhtZrg
https://dl.doubtnut.com/l/_PflFTd2v7Ilj
https://dl.doubtnut.com/l/_A0NdUpdJSivY


Watch Video Solution

6. Express the following numbers to three significant

figures. 

(i)  


(ii) 44.216

Watch Video Solution

6.022 × 1023

7. What is the sum of 5.228 kg and 1.02 kg ? Express

the result to the appropriate significant figures .

Watch Video Solution

https://dl.doubtnut.com/l/_A0NdUpdJSivY
https://dl.doubtnut.com/l/_iIQksxb7NOF8
https://dl.doubtnut.com/l/_4K5bUBNrLZyF


8. Perform the following calculations to the

appropriate number of signficiant digits

Watch Video Solution

6.02 × 1023 × 4.00

4.0 × 1020

9. when 8.4 g of  is added to a:solution of 

 Weighing 20g. it is observed that 4.4 g

of  is released into atmosphere and a residue is

left behind. Calculate the mass of residue by applying

law of conservation of mass.

Watch Video Solution

NaHCO3

CH3COOH

CO2

https://dl.doubtnut.com/l/_bdGcKxWRRZT1
https://dl.doubtnut.com/l/_VNrY8RpaXOdl


10. If 12.6 g of  are added to 30.0 g of 

 solution, the residue is found is found

to weight 36.0 g. What is the mass  released in

the reaction ?

Watch Video Solution

NaHCO3

CH3COOH

CO2

11. 2,75 g of cupric oxide was reduced by heating in a

current of hydrogen and the weight of copper that

remained was 2.196 g. Another experiment, 2.358 g of

copper was dissolved in nitric acid and the resulting

copper nitrate converted into cupric oxide by

ignition. The weight of cupric oxide formed was 2.952

https://dl.doubtnut.com/l/_AY5YBEdsM1Rx
https://dl.doubtnut.com/l/_dmaGqpNKs2Tc


g. Show that these results illustrate law of constant

composition.

Watch Video Solution

12. 12.976 g of lead combines with 2.004 g of oxygen

to form  can also be produced by

heating lead nitrate and it was found that the

percentage of oxygen present in  is 13.38 %.

With the help of given informations, illustrate the

law of constant composition.

Watch Video Solution

PbO2. PbO2

PbO2

https://dl.doubtnut.com/l/_dmaGqpNKs2Tc
https://dl.doubtnut.com/l/_5zNRC0ejxEDS


13. On analysis it was found that the black oxide of

copper and red oxide of copper contain 80% and

89% of copper respectively. Show that this data is in

accordance with law of multiple proportions.

Watch Video Solution

14. Sulphur and oxygen are known to form two

compounds. The sulphur content in one of these is 51

% while in the other is 41 %. Show that this data is in

agreement with the law of multiple proportions.

Watch Video Solution

https://dl.doubtnut.com/l/_hlqingTEHWJ9
https://dl.doubtnut.com/l/_rJbPM1igUCQs
https://dl.doubtnut.com/l/_6sMXpyKZ56Nb


15. Boron has two isotopes, B-10 and B-11. The average

atomic mass of boron is found to be 10.80u. Calculate

the percentage of abundance of these isotopes.

Watch Video Solution

16. Carbon found nature as a mixture of C-12 and C-13.

The average atomic mass of carbon is 12.011u. What is

the percentage abundance of carbon-12 in nature ?

Watch Video Solution

https://dl.doubtnut.com/l/_6sMXpyKZ56Nb
https://dl.doubtnut.com/l/_cM8QLmOaAwQe


17. What will be the weight of CO having the same

number of oxygen atoms at present in 22 g of ?

Watch Video Solution

CO2

18. What is the molecular mass of substance, each

molecule of which contains 4 atoms of carbon and 10

atoms of hydrogen?

Watch Video Solution

19. How many molecules of  are present in 1 L air

containing 80% volume of  at STP?

O2

O2

https://dl.doubtnut.com/l/_4ha9dibZXSkG
https://dl.doubtnut.com/l/_R3MPfQZTwYKR
https://dl.doubtnut.com/l/_Oi3EaJ95WpC1


Watch Video Solution

20. Calculate the volume occupied by (i) 28 u

nitrogen gas (ii) 28 g  gas at STP.

Watch Video Solution

N2

21. Calculate percentage of sulphur in sulphuric acid

.

Watch Video Solution

(H2SO4)

https://dl.doubtnut.com/l/_Oi3EaJ95WpC1
https://dl.doubtnut.com/l/_tkdZNi6nGunr
https://dl.doubtnut.com/l/_6Ktd11qIQsKi


22. Calculate percentage of carbon in ethanol

.

Watch Video Solution

(C2H5OH)

23. A substance on analysis, gave the following

percentage composition : Na = 43.4 %, C = 11.3%, O =

45.3 %. Calculate the empirical formula. (Na = 23, C =

12, O = 16).

Watch Video Solution

https://dl.doubtnut.com/l/_grwCcYkkpEdS
https://dl.doubtnut.com/l/_mXuzqtSDxmcu


24. An organic compound on analysis gave the

following data : C = 57.82%, H=3.6%, and 38.58% is

oxygen. Find its empirical formula.

Watch Video Solution

25. Calculate the amount of water (g) produced by

the combustion of 16 g of methane.

Watch Video Solution

26. How many moles of methane are required to

produce  for combustion ?22gCO2

https://dl.doubtnut.com/l/_9EVloWz4zHSi
https://dl.doubtnut.com/l/_nT1uPQ0PPTUz
https://dl.doubtnut.com/l/_2beFhWycaKnC


Watch Video Solution

27. 50.0 kg of  and 10.0 kg of  are mixed

to produce . Calculate the  formed.

Identify the limiting reagent in the production of

 in this situation.

Watch Video Solution

N2(g) H2(g)

NH3(g) NH3(g)

NH3

28. 80 g of  is reacted with 80 g of  to form

water. Find out the mass of water obtained. Which

substance is the limiting reagent ?

Watch Video Solution

H2 O2

https://dl.doubtnut.com/l/_2beFhWycaKnC
https://dl.doubtnut.com/l/_B90PLjTzWX1R
https://dl.doubtnut.com/l/_65sUZeSVLcvv


Exercise

29. A given solution of NaOH contains 200 g of NaOH

per litre of solution. Calculate the molarity, of this

solution.

Watch Video Solution

30. How many moles of HCl are present in 1 litre of 1

M HCl solution ?

Watch Video Solution

https://dl.doubtnut.com/l/_65sUZeSVLcvv
https://dl.doubtnut.com/l/_tEUnhW6FPlTG
https://dl.doubtnut.com/l/_YeYFdyFxUV2q


1. One day is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

24 × 60 × 60S

24 × 60S

24 × 50 × 60S

24 × 100 × 60S

2. Write the SI unit of luminous intensity and the

amount of substance.

https://dl.doubtnut.com/l/_S9g1JVRdRshe
https://dl.doubtnut.com/l/_8wQm9FwpXHk8


A. kg

B. mole

C. candela

D. ampere

Answer: C

Watch Video Solution

3. What is the unit of frequency ?

A. hertz

B. second− 1

https://dl.doubtnut.com/l/_8wQm9FwpXHk8
https://dl.doubtnut.com/l/_HxuvsCMWzKWO


C. 

D. All of these

Answer: D

Watch Video Solution

− 1
min

4. How many significant figures are in 0.0005?

A. 1

B. 2

C. 3

D. 4

https://dl.doubtnut.com/l/_HxuvsCMWzKWO
https://dl.doubtnut.com/l/_KDA1rXfmystD


Answer: A

Watch Video Solution

5. The number of significant figures in 1.0001 are

A. 1

B. 2

C. 4

D. 5

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_KDA1rXfmystD
https://dl.doubtnut.com/l/_Ks0oQxd73oWQ


6. Add (0.001 +0.02) upto correct number of

significant figures

A. 0.021

B. 0.02

C. 0.003

D. 0.001

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Ks0oQxd73oWQ
https://dl.doubtnut.com/l/_rsfE7WoYPOKY


7. The multiple  after rounding off will be

A. 1

B. 

C. 

D. 

Answer: A

Watch Video Solution

5 × 0.2

1.0

1.00

1.000

8. Round off 0.1525 upto three significant figures

https://dl.doubtnut.com/l/_KgloNi7Y7TtE
https://dl.doubtnut.com/l/_IkTPZuoZCQrw


A. 0.153

B. 0.152

C. 0.16

D. 0.15

Answer: B

Watch Video Solution

9. Round off 0.1576 upto one digit after decimal

A. 0.1

B. 1.6 × 10− 1

https://dl.doubtnut.com/l/_IkTPZuoZCQrw
https://dl.doubtnut.com/l/_Sn0603n9idYe


C. 0.2

D. 1.6

Answer: C

Watch Video Solution

10. The value of  will be equal to

A. 8

B. 8.11

C. 8.1

D. 8.113

5.86 × 3.96

2.86

https://dl.doubtnut.com/l/_Sn0603n9idYe
https://dl.doubtnut.com/l/_PDKWLC9La0Wt


Answer: C

Watch Video Solution

11. The percentage of hydrogen in water and

hydrogen peroxide is 11 .1 and 5.9 respectively . These

figures illustrate

A. Law of multiple proportions

B. Law of conservation of mass

C. Law of constant proportions

D. Law of combining volumes

https://dl.doubtnut.com/l/_PDKWLC9La0Wt
https://dl.doubtnut.com/l/_WmCG0NVyWlTG


Answer: A

Watch Video Solution

12. Element X forms five stable oxides with oxygen of

formula  . The formation of

these oxides explains

A. Law of definite proportions

B. Law of partial pressures

C. Law of multiple proportions

D. Law of reciprocal proportions

X2O, XO, X2O3, X2O5

https://dl.doubtnut.com/l/_WmCG0NVyWlTG
https://dl.doubtnut.com/l/_7gb8CUAOAzMw


Answer: C

Watch Video Solution

13. Which of the following represents Avogadro's

hypothesis ?

A. Gases react together in volumes which bear a

simple ratio to one another

B. Equal volumes of all gases under same

conditions of temperature and pressure

contain equal number of molecules

https://dl.doubtnut.com/l/_7gb8CUAOAzMw
https://dl.doubtnut.com/l/_n6QblUU4xF2g


C. Equal volumes of all gases under same

conditions of temperature and pressure

contain equal number of atoms

D. The rates of diffusion of gases are inversely

proportional to the square root of their

densities

Answer: B

Watch Video Solution

14. When 200 g of lime strongly heated , it undergoes

thermal decomposition to form 112 g of lime and

https://dl.doubtnut.com/l/_n6QblUU4xF2g
https://dl.doubtnut.com/l/_2z8PjDxxHddJ


unknown mass of carbon dioxide gas as

 

What will be the mass of  formed ?

A. 88 g

B. 24 g

C. 64 g

D. 40 g

Answer: A

Watch Video Solution

CaCO3
200g

→ CaO
112g

+ CO2
?

CO2

https://dl.doubtnut.com/l/_2z8PjDxxHddJ


15. Carbon and oxygen react in ratio 3 : 8 by mass to

form  . What weight of carbon should be used to

react completely with 32 g of oxygen ?

A. 10 g

B. 15 g

C. 12 g

D. 7g

Answer: C

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_5MMyPQYwAw6J


16. Cu forms two oxides cuprous and cupric oxides,

which law can be proved by the weights of Cu and O?

A. Constant composition

B. Multiple proportions

C. Reciprocal proportions

D. Definite proportions

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9emw1nkPqDvu


17. The law of conservation of mass holds good for all

of the following except.

A. All chemical reactions

B. Nuclear reactions

C. Endothermic reactions

D. Exothermic reaction

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_m81G0iDwHQGF


18. Equal volumes of all gases under the same

conditions of temperature and pressure contain

equal number of

A. Equal atoms

B. Equal masses

C. Equal densities

D. Equal molecules

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_9gsOL82CWwRz


19. Which of the following pairs of compound

illustrate law of multiple proportions?

A. KOH, CsOH

B. 

C. Ethane, benzene

D. KCI, KBr

Answer: C

Watch Video Solution

H2O, D2O

https://dl.doubtnut.com/l/_LP98ecYS8aF1


20. Gay Lussac's law is not valid in the chemical

reaction:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2(g) + Cl2(g) → 2HCI(g)

3H2(g) + N2(g) → 2NH3(g)

2SO2(g) + O2(g) → 2SO3(g)

CaCO3(s) → CaO(s) + CO2(g)

https://dl.doubtnut.com/l/_hwdiYDhhvta9


21. Atomic weight of chlorine is 35.5 . It has two

isotopes of atomic weight 35 and 37 . What is the

percentage of the heavier isotope in the sample ?

A. 5

B. 10

C. 15

D. 20

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_r2IOy4ixAtM1


22. The number of moles of nitrogen atom in 56 g

nitrogen is

A. 2 mol

B. 4 mol

C. 8 mol

D. 10 mol

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_A1I3lzDavpFH


23. The number of mole of N - atom in 

nitrogen atoms is

A. 1 mol

B. 2 mol

C. 3 mol

D. 4 mol

Answer: C

Watch Video Solution

18.066x1023

https://dl.doubtnut.com/l/_6xPGqsjql0yf


24. What weight in grams is represented by 1.5 moles

of sulphur dioxide ?

A. 60 g

B. 74g

C. 96 g

D. 91 g

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_FfvrX4uBum03


25. The number of atoms in 20 g of  is

approximately

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

SO3

1 × 1023

1.5 × 1023

2 × 1023

6 × 1023

https://dl.doubtnut.com/l/_Q0WYilYVqURS


26. The number of particles presents in 1 mol of

nitrogen atom are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

6.022 × 1025

6.022 × 1024

6.022 × 1023

6.022 × 1022

https://dl.doubtnut.com/l/_cyjbrjYI248E


27. Boron has two stable isotopes,  and 

. The atomic mass that should appear for

boron in the periodic table is

A. 10.81

B. 

C. 11

D. 10.5

Answer: A

Watch Video Solution

.10 B(19 % )

.11 B(81 % )

105

https://dl.doubtnut.com/l/_JrnBBYPRJZ3i


28. Mass of 1 amu in g

A. 

B. 

C. 1.008

D. 

Answer: B

Watch Video Solution

1.66x1024

1.66x10− 24

9.1 × 10− 28

29. One 'u' stands for the mass of

https://dl.doubtnut.com/l/_wss2XTH4jzU6
https://dl.doubtnut.com/l/_31lfJslyRWma


A. An atom of carbon-12

B. 1/12th of the carbon-12

C. 1/12th of hydrogen atom

D. One atom of any of the elements

Answer: B

Watch Video Solution

30. What is the mass of one molecule of water in

grams?

A. 3 × 10− 23g

https://dl.doubtnut.com/l/_31lfJslyRWma
https://dl.doubtnut.com/l/_juJCOPRikka5


B. 18g

C. 

D. 

Answer: A

Watch Video Solution

1.5 × 10− 23g

4.5 × 10− 23g

31.  of a metallic chloride contain  of

chlorine. The equivalent weight of the metal is

A. 74.5

B. 39

74.5g 35.5g

https://dl.doubtnut.com/l/_juJCOPRikka5
https://dl.doubtnut.com/l/_4eXbAJ5N0qEE


C. 35.5

D. 7.45

Answer: B

Watch Video Solution

32. Two elements X and Y (atomic mass of X=75 and

Y=16 ) combine to give a compound having 76% of

X.The formula of compound is :-

A. XY

B. 

C. 

X2Y

X2Y2

https://dl.doubtnut.com/l/_4eXbAJ5N0qEE
https://dl.doubtnut.com/l/_3X27mpbq1PJo


D. 

Answer: D

Watch Video Solution

X3Y3

33. Equivalent weight of crystalline oxalic acid is

A. 90

B. 63

C. 53

D. 45

Answer: B

https://dl.doubtnut.com/l/_3X27mpbq1PJo
https://dl.doubtnut.com/l/_PMIIBKvGIXro


Watch Video Solution

34. Find out the equivalent weight of in the

reaction: 

A. 

B. 

C. 2M

D. 

Answer: B

Watch Video Solution

H3PO4

Ca(OH)2 + H3PO4 → CaHPO4 + 2H2O

M

1

M

2

M

4

https://dl.doubtnut.com/l/_PMIIBKvGIXro
https://dl.doubtnut.com/l/_sEcVfoajUYBl


35. Equivalent mass of a metal is 12 g . Hence, 


equivalent mass of its oxide is

A. 24

B. 28

C. 20

D. 34

Answer: C

Watch Video Solution

mol − 1

https://dl.doubtnut.com/l/_sEcVfoajUYBl
https://dl.doubtnut.com/l/_1DV2e2ZHZX4D


36. The percentage of nitrogen in  is

A. 0.2222

B. 0.35

C. 0.2857

D. 0.45

Answer: A

Watch Video Solution

HNO3

37. What is the ratio of empirical formula mass to

molecular formula mass of benzene?

https://dl.doubtnut.com/l/_yM1Ri2dugtox
https://dl.doubtnut.com/l/_DxZcJsj92oD1


A. 1:6

B. 2:3

C. 6:1

D. 3:2

Answer: A

Watch Video Solution

38. The compound in which mass percentage of

carbon is 75% and that of hydrogen is 25% is

A. C2H6

https://dl.doubtnut.com/l/_DxZcJsj92oD1
https://dl.doubtnut.com/l/_zSsgJN5rQYo3


B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H2

CH4

C2H4

39. Identify the molecule having empirical formula

A. 

B. 

CH2O

CH3CHO

HO − CH2 − CH2 − OH

https://dl.doubtnut.com/l/_zSsgJN5rQYo3
https://dl.doubtnut.com/l/_fyK2AXT2PcbK


C. 

D. 

Answer: D

Watch Video Solution

COOH

∣

COOH

CH3COOH

40. 4 g of a metal oxide contains 1.6 g-oxygen, then

equivalent mass of the metal is

A. 3.2

B. 24

C. 12

https://dl.doubtnut.com/l/_fyK2AXT2PcbK
https://dl.doubtnut.com/l/_aPKngDW4IYBr


D. 20

Answer: C

Watch Video Solution

41. 8 gm  is allowed to recant to

form water then which of the following statement is

correct ?

A.  is limiting reagent

B.  is reagent in excess

C.  is limiting reagent

D. 40 g water is fomed

H2 and 32gmO2

O2

O2

H2

https://dl.doubtnut.com/l/_aPKngDW4IYBr
https://dl.doubtnut.com/l/_O8MZHpTPfash


Answer: A

Watch Video Solution

42. Equal volume of  and  react to form

ammonia under suitable condition then the limiting

reagent is

A. 

B. 

C. 

D. No one reactant is limiting reagent

N2 H2

H2

N2

NH3

https://dl.doubtnut.com/l/_O8MZHpTPfash
https://dl.doubtnut.com/l/_lx1h4qGt0veA


Answer: A

Watch Video Solution

43. How many grams of calcium oxide is obtained on

heating 100 g of ?

A. 50 g

B. 40 g

C. 56 g

D. 44 g

Answer: C

h id l i

CaCO3(s)

https://dl.doubtnut.com/l/_lx1h4qGt0veA
https://dl.doubtnut.com/l/_KRFjOCeboKAW


Watch Video Solution

44. The volume of  at STP required for the

complete combustion of 4 g  is

A. 5.6 litre

B. 2.88 litre

C. 22.4 litre

D. 11.2 litre

Answer: D

Watch Video Solution

O2

CH4

https://dl.doubtnut.com/l/_KRFjOCeboKAW
https://dl.doubtnut.com/l/_mlhyG7fSxQj6
https://dl.doubtnut.com/l/_Bsw7UFnRLfSD


45. 0.9 g Al reacts with dil. HCl to give . The volume

of  evolved at STP is (Atomic weight of Al = 27)

A. 1.12 litre

B. 2.24 litre

C. 3.33 litre

D. 4.44 litre

Answer: A

Watch Video Solution

H2

H2

46. Which of the following statement is correct?

https://dl.doubtnut.com/l/_Bsw7UFnRLfSD
https://dl.doubtnut.com/l/_Uf7OLHtDdmZO


A. 28 g CO contains 12 g carbon and 16 g oxygen

B. One mole of CO reacts completely with half

mole of  to form 

C.  and Co have same molar mass

D. All of these

Answer: D

Watch Video Solution

O2 CO2

N2

47. Calcium carbonate decomposes on heating

according to the following equations: 

 
CaCO3(s) ⇔ CaO(s) + CO2(g)

https://dl.doubtnut.com/l/_Uf7OLHtDdmZO
https://dl.doubtnut.com/l/_BqsZDWzrxeHK


How many moles of  will be obtained by

decomposition of 50g of ?

A. 11.2 litre

B. 22.4 litre

C. 5.6 litre

D. 24.4 litre

Answer: A

Watch Video Solution

CO2

CaCO3

48. Limiting reagent in a chemical reaction is that

reactant which

https://dl.doubtnut.com/l/_BqsZDWzrxeHK
https://dl.doubtnut.com/l/_XSUZpBVdKM4T


A. Left some amount unreacted after the

completion of reaction

B. Reacts completely in the reaction

C. Does not react in the reaction

D. All of these

Answer: B

Watch Video Solution

49. What is the mass of glucose required to produce

44 g of , on complete combustion?CO2

https://dl.doubtnut.com/l/_XSUZpBVdKM4T
https://dl.doubtnut.com/l/_DcMPQbqNcVsk


A. 30 g

B. 45 g

C. 60 g

D. 22 g

Answer: A

Watch Video Solution

50. 10g of on reactoin with HCI forms 2024 L of 

 the percentage impurity of 

A. 0.87

MnO2

Cl2(g)atNT P1

MnO2is : − MnO2 + 4HCl → MnCl2 + Cl2 + 2H2O

https://dl.doubtnut.com/l/_DcMPQbqNcVsk
https://dl.doubtnut.com/l/_WlVr6naAsGHa


B. 0.25

C. 0.333

D. 0.13

Answer: D

Watch Video Solution

51. Molality is expressed in units of

A. 

B. 

C. 

molkg − 1

molL− 1

molL− 1s − 1

https://dl.doubtnut.com/l/_WlVr6naAsGHa
https://dl.doubtnut.com/l/_qLvUUXoeiAWn


D. 

Answer: A

Watch Video Solution

molg − 1s − 1

52. Which of the following is correct?

A. The sum of mole fractions of all the

components in a solution is always unity

B. Mole fraction depends upon temperature

C. Mole fraction is always negative

https://dl.doubtnut.com/l/_qLvUUXoeiAWn
https://dl.doubtnut.com/l/_xHTDVf48AINl


D. Mole fraction is independent of content of

solute in solution

Answer: A

Watch Video Solution

53. Which of the following methods of expressing

concentration varies with temperature ?

A. Molality

B. Weight percent

C. Molarity

https://dl.doubtnut.com/l/_xHTDVf48AINl
https://dl.doubtnut.com/l/_X3bGNWKqLcMp


D. Mole fraction

Answer: C

Watch Video Solution

54. What is the molarity of NaOH solution if 250 mL

of it contains 1 mg of NaOH ?

A. 

B. 

C. 

D. 

10− 1M

10− 2M

10− 4M

10− 3M

https://dl.doubtnut.com/l/_X3bGNWKqLcMp
https://dl.doubtnut.com/l/_XSjYDdFb0yxr


Answer: C

Watch Video Solution

55. How many moles of sodium chloride present in

250 mL of a 0.50 M NaCl solution ?

A. 0.125 mol

B. 0.150 mol

C. 0.075 mol

D. 0.02 mol

Answer: A

h id l i

https://dl.doubtnut.com/l/_XSjYDdFb0yxr
https://dl.doubtnut.com/l/_YUJWe89NZtn4


Watch Video Solution

56. A 5 M solution of  is diluted from 1 litre to

a volume of 100 litres, the normality of the solution

will be

A. 1N

B. 5N

C. 0.1 N

D. 0.5 N

Answer: C

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_YUJWe89NZtn4
https://dl.doubtnut.com/l/_U5THnQ9IO4Jx


57. If 100 mL of  is mixed with 100 mL of 1

M NaOH solution. The resulting solution will be

A. Highly acidic

B. Neutral

C. Highly basic

D. Slightly acidic

Answer: B

Watch Video Solution

1NH2SO4

https://dl.doubtnut.com/l/_F2LwAv7S4jUW


58. 27 g of Al (at. Mass 27) will react completely with

oxygen equal to

A. 24 g

B. 8 g

C. 40 g

D. 10 g

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_DGH16tpGgf1q


59. 12 g of Mg (at. Mass 24) will react completely with

acid to give

A. 0.5 mol

B. 1.5 mol

C. 1.5 g

D. 0.5 g

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_LLIg5kPchF2T


Assignment Section A Objective Type Questions

60. Volume at NTP of oxygen required to completely

burn 1 kg of coal (100% carbon)

A. 22400 L

B. 

C. 

D. 1000L

Answer: C

Watch Video Solution

22.4 × 103L

1.86 × 103L

https://dl.doubtnut.com/l/_6UErIn33JX8Q
https://dl.doubtnut.com/l/_8nMe2cZyphe8


1. A sample of ammonium phosphate 

contains 3.18 moles of hyrogen atoms . The number

of moles of oxygen atoms in the sample is

A. 0.265

B. 0.795

C. 1.06

D. 4

Answer: C

Watch Video Solution

(NH4)3PO4

https://dl.doubtnut.com/l/_8nMe2cZyphe8


2. Two oxides of a metal contain  and 

of Oxygen, respecttively. If the formula of the first be

. Find that of the second.

A. XO

B. 

C. 

D. 

Answer: D

Watch Video Solution

27.6 % 30.0 %

M3O4

XO2

X2O5

X2O3

https://dl.doubtnut.com/l/_y5tccVuOKiVt


3. Calculate the molality of solution containing 3 g

glucose dissolved in 30 g of water . (molar mass of

glucose = 180)

A. 0.50 m

B. 0.56 m

C. 0.091 m

D. 0.05 m

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_N2Dcz5Ulua4W


4. An element X has the following isotopic

composition: 

 


The weight average atomic mass of the naturally

occurring element X is closest to

A. 201 amu

B. 202 amu

C. 199 amu

D. 200 amu

Answer: D

Watch Video Solution

.200 X : 90 % .199 X : 8.0 % .202 X : 2.0 %

https://dl.doubtnut.com/l/_AwJ0ciUrBBTb


5. Which has the maximum number of molecules

among the following

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

8gH2

64gSO2

44gCO2

48gO3

https://dl.doubtnut.com/l/_AwJ0ciUrBBTb
https://dl.doubtnut.com/l/_06ty4Se00u2W


6. What volume of oxygen gas  measured at 

and 1 atm is needed to burn completely  of

propane gas  measured under the same

condition?

A. 10 L

B. 7L

C. 6 L

D. 5L

Answer: D

Watch Video Solution

(O2) 0∘ C

1L

(C3H8)

https://dl.doubtnut.com/l/_pXnYHWkRtjEt
https://dl.doubtnut.com/l/_Bmn0MvPyr6UY


7. Volume occupied by one molecule of water (density

= 1 g )

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cm − 3

5.5 × 10− 23cm3

9.0 × 10− 23cm3

6.023 × 10− 23cm3

3.0 × 10− 23cm3

https://dl.doubtnut.com/l/_Bmn0MvPyr6UY


8. The total number of electrons in 1.6 g of  to

that in 1.8 g of 

A. Double

B. Same

C. Triple

D. One fourth

Answer: B

Watch Video Solution

CH4

H2O

https://dl.doubtnut.com/l/_Gys5dZiHWXQl


9. When x molecules are removed from 200 mg of

.  moles of  are left. x will be

A.  molecules

B.  molecules

C. 21 molecules

D.  molecules

Answer: D

Watch Video Solution

N2O 2.89 × 10− 3 N2O

1020

1010

1021

https://dl.doubtnut.com/l/_ZKHOSyiuWmXs


10. 4 g of hydrogen reacts with 20 g of oxygen to

form water. The mass of water formed is

A. 24 g

B. 36 g

C. 22.5 g

D. 40 g

Answer: C

Watch Video Solution

11. Which has maximum molecules?

https://dl.doubtnut.com/l/_u11jBSj42QUg
https://dl.doubtnut.com/l/_LyPcafWw6yf5


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

7gN2O

20gH2

16gNO2

16gSO2

12. The number of atoms in 4.25 g of  is

approximately

A. 

NH3

4 × 1023

https://dl.doubtnut.com/l/_LyPcafWw6yf5
https://dl.doubtnut.com/l/_Mlhduavfjrtc


B. 

C. 

D. 

Answer: B

Watch Video Solution

1.5 × 1023

1 × 1023

6 × 1023

13. The maximum number of molecules is present in

A. 15 L of  gas at STP

B. 5 L of  gas at STP

C. 0.5 g of  gas

H2

N2

H2

https://dl.doubtnut.com/l/_Mlhduavfjrtc
https://dl.doubtnut.com/l/_0EQiRTAj9BeH


D. 10 g of  gas

Answer: A

Watch Video Solution

O2

14. The number of atoms in 0.1 mol of a tetraatomic

gas is ( )

A. 

B. 

C. 

D. 

NA = 6.02 × 1023mol− 1

2.4 × 1022

6.026 × 1022

2.4 × 1023

3.600 × 1023

https://dl.doubtnut.com/l/_0EQiRTAj9BeH
https://dl.doubtnut.com/l/_WcM3HvjVMVkL


Answer: C

Watch Video Solution

15. How many grams of NaOH should be added to

water to prepare 250 ml solution of 2 M NaOH?

A. 

B. 

C. 20

D. 24

Answer: C

h id l i

9.6 × 103

2.4 × 103

https://dl.doubtnut.com/l/_WcM3HvjVMVkL
https://dl.doubtnut.com/l/_4kBQItfnZy15


Watch Video Solution

16. Haemoglobin contains 0.33% of iron by weight.

The molecular weight of heamoglobin is

approximately 67200. The number of iron atoms (At.

Wt. of Fe=56) present in one molecule of

haemoglobin is

A. 4

B. 6

C. 3

D. 2

Answer: A

https://dl.doubtnut.com/l/_4kBQItfnZy15
https://dl.doubtnut.com/l/_HLGbMAwuqRnR


Watch Video Solution

17. In the reaction,  when 1 mole

of  and 1 mole of  are made to react to

completion

A. All the oxygen will be consumed

B. 1.0 role of  will be produced

C. 0.5 mole of  is remained

D. All of these

Answer: B

Watch Video Solution

2SO2 + O2 → 2SO3

SO2 O2

SO3

SO2

https://dl.doubtnut.com/l/_HLGbMAwuqRnR
https://dl.doubtnut.com/l/_EYroyFkPWKoS


18. If the weight of metal chloride is x gm containing

y gm of metal, the equivalent weight of metal will be

:-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

E = × 35.5
x

y

E =
8(y − x)

x

E = × 35.5
y

x − y

E =
8(x − y)

y

https://dl.doubtnut.com/l/_EYroyFkPWKoS
https://dl.doubtnut.com/l/_qFYUHtX5Rnou
https://dl.doubtnut.com/l/_dLlVQ1Et5ODh


19. 10 g of hydrogen and 64 g of oxygen were filled in

a steel vessel and exploded. Amount of water

produced in this reaction will be

A. 1 mol

B. 2 mol

C. 3 mol

D. 4 mol

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_dLlVQ1Et5ODh


20. Sulphur trioxide is preapared by the following

two reactions: 

 


 


How many grams of  are produced from 1 mole

fo ?

A. 1280 g

B. 960 g

C. 640 g

D. 320 g

Answer: C

S8(s) + 8O2(g) → 8SO2(g)

2SO2(g) + O2(g) → 2SO3(g)

SO3

S8

https://dl.doubtnut.com/l/_7J6ITYmXIIN3


Assignment Section B Objective Type Questions

Watch Video Solution

1. The total number of electrons in 4.2 g of  ion

is (  is the Avogadro's number)

A. 

B. 

C. 

D. 

Answer: C

W h Vid S l i

N 3 −

NA

2.1NA

4.2NA

3NA

3.2NA

https://dl.doubtnut.com/l/_7J6ITYmXIIN3
https://dl.doubtnut.com/l/_FCfFEjvDG5wn


Watch Video Solution

2. The number of mole of nitrogen in one litre of air

containing 10% nitrogen by volume, under standard

conditions, is

A. 0.03 mole

B. 2.10 moles

C. 0.186 mole

D. 

Answer: D

Watch Video Solution

4.46x10− 3mole

https://dl.doubtnut.com/l/_FCfFEjvDG5wn
https://dl.doubtnut.com/l/_7qgxrLPo0rS7


3. Liquid benzene  burns in oxygen according

to the equation,

 

How many litres of  at STP are needed to complete

the combustion of 39 g of liquid benzene ? (Mol .

Weight if 

A. 74 L

B. 11.2 L

C. 22.4L

D. 84 L

Answer: D

C6H6)

2C6H6(l) + 15O2(g) → 12CO2(g) + 6H2O(g)

O2

O2 = 32, C6H6 = 78)

https://dl.doubtnut.com/l/_g80nMjW4VOaQ


Watch Video Solution

4. 1 mol of  is thermally decomposed and

excess of aluminium is burnt in the gaseous product.

How many moles of  are formed?

A. 1

B. 2

C. 1.5

D. 3

Answer: A

Watch Video Solution

KCIO3

Al2O3

https://dl.doubtnut.com/l/_g80nMjW4VOaQ
https://dl.doubtnut.com/l/_MRV6Smyh68N2


5. The amount of zinc required to produce 1.12 ml of

 at STP on treatment with dilute HCI will be

A. 65 g

B. 0.065 g

C. 

D. 6.5 g

Answer: C

Watch Video Solution

H2

32.5 × 10− 4g

https://dl.doubtnut.com/l/_nBSdlKHghP04


6. Volume of  obtained at STP by the complete

decomposition of 9.85 g  is

A. 2.24 litre

B. Zero

C. 0.85 litre

D. 0.56 litre

Answer: B

Watch Video Solution

CO2

Na2CO3

https://dl.doubtnut.com/l/_1vgTHRGdsgCe


7. One litre of mixture of  and  is passed

through red hot charcoal in tube. The new volume

becomes 1.4 litre. Find out % composition of mixture

by volume. All measurements are made at same 

and 

A. 0.8 litre of  and 0.6 litre of CO

B. 0.7 litre of  and 0.7 litre of Co

C. 0.6 litre of  and 0.8 litre of Co

D. 0.4 litre of  and 1.0 litre of CO

Answer: C

Watch Video Solution

CO CO2

P

T

CO2

CO2

CO2

CO2

https://dl.doubtnut.com/l/_mSdrloyc5Qcy


8. Suppose that A and B form the compounds 

and  if 0.05 mole of  weighs 9 g and 0.1

mole of  weighs 10 g, the atomic weight of A and

B respectively are

A. 30 and 40

B. 40 and 30

C. 20 and 5

D. 15 and 20

Answer: B

Watch Video Solution

B2A3

B2A B2A3

B2A

https://dl.doubtnut.com/l/_mSdrloyc5Qcy
https://dl.doubtnut.com/l/_0MTvcV7PuOLC


9. When 100 ml of  is mixed with 500 ml of

 then nature of resulting solution and

normality of excess of reactant left is

A. Acidic, 

B. Basic 

C. Basic 

D. Acidic 

Answer: C

Watch Video Solution

H2SO4
M

10

NaOH
M

10

N

5

N

5

N

20

N

10

https://dl.doubtnut.com/l/_qFT1GmgKnxFP


10. Mole fraction of solvent in aqueous solution of

NaOH having molality of 3 is

A. 0.3

B. 0.05

C. 0.7

D. 0.95

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Os0RynzWE9pQ


11. Concentrated aqueous solution of sulphuric acid

is  by mass and has density of .

What is the volume of acid required to make one liter

 solution ?

A. 16.65 mL

B. 22.20 ml

C. 5.55 mL

D. 11.10 ml

Answer: C

Watch Video Solution

98 % 1.80g mL− 1

0.1MH2SO4

https://dl.doubtnut.com/l/_2dNLCdQCdRGe
https://dl.doubtnut.com/l/_ge658mNTKv5a


12. Number of significant figures in 

A. TWO

B. Three

C. Four

D. One

Answer: B

Watch Video Solution

6.62 × 10− 34

13. Ammonia gas is passed into water, yielding a

solution of density  and containing 0.93g/cm3

https://dl.doubtnut.com/l/_ge658mNTKv5a
https://dl.doubtnut.com/l/_x2AhGJGCNo84


 by weight. The mass of NH3 per cc of

the solution is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

18.6 % NH3

0.17g/cm3

0.34g/cm3

0.51g/cm3

0.68g/cm3

14. A certain amount of a metal whose equivalent

mass is 28 displaces 0.7 L of  at S.T.P. from an acid.H2

https://dl.doubtnut.com/l/_x2AhGJGCNo84
https://dl.doubtnut.com/l/_LZ5SvPUkHAKj


Hence, mass of the element is:

A. 1.75 g

B. 0.875 g

C. 

D. 7.00 g

Answer: A

Watch Video Solution

0.51g/cm3

15. Number of Fe atoms in 100 g Haemoglobin if it

contains 0.33% Fe. (Atomic mass of Fe. = 56)

https://dl.doubtnut.com/l/_LZ5SvPUkHAKj
https://dl.doubtnut.com/l/_7ZKJH1WZqjao


A. 

B. 35

C. 

D. 

Answer: A

Watch Video Solution

0.035 × 1023

3.5 × 1023

7 × 108

16. An organic compound with C =40 % and H= 6.7%

will have the empirical formula

A. CH4

https://dl.doubtnut.com/l/_7ZKJH1WZqjao
https://dl.doubtnut.com/l/_r8wM3p7zH21H


B. 

C. 

D. 

Answer: B

Watch Video Solution

CH2O

C2H4O2

C2H4

17. The number of electrons in 1.6 g of  is

approximately

A. 

B. 

CH4

25 × 1024

1.5 × 1024

https://dl.doubtnut.com/l/_r8wM3p7zH21H
https://dl.doubtnut.com/l/_RJrtdz7SpWQG


C. 

D. 

Answer: C

Watch Video Solution

6 × 1023

3.0 × 1024

18.  molecules of acetic acid are present

in 500 ml of its solution. The concentration of

solution is

A. 0.002 M

B. 10.2 M

C. 0.012 M

6.025 × 1020

https://dl.doubtnut.com/l/_RJrtdz7SpWQG
https://dl.doubtnut.com/l/_o4KgqcdzDA41


D. 0.001 M

Answer: A

Watch Video Solution

19. How many litre of oxygen at STP is required to

burn 60 g ?

A. 22.4L

B. 11.21

C. 

D. 8.5 L

C2H6

22.4 × 7L

https://dl.doubtnut.com/l/_o4KgqcdzDA41
https://dl.doubtnut.com/l/_bxSX8Ahw1yf4


Answer: C

Watch Video Solution

20. For the formation of 3.65g of HCI gas , what

volume of hydrogen gas and chlorine gas , are

required at NTP conditions?

A. 1 L, 1L

B. 1.12 L, 2.24

C. 3.65 L, 1.83 L

D. 1.12 L, 1.12 L

https://dl.doubtnut.com/l/_bxSX8Ahw1yf4
https://dl.doubtnut.com/l/_ECqrhZeoNDoX


Answer: D

Watch Video Solution

21. Specific volume of cylindrical virus particle is

 whose radius and length  and 

 respectively. If , find molecular

weight of virus:

A. 15.4 kg/mol

B. 

C. 

D. 

6.02 × 10− 2cc/g 7Å

10Å NA = 6.02 × 1023

1.54 × 104kg/mol

3.08 × 104kg/mol

3.08 × 103kg/mol

https://dl.doubtnut.com/l/_ECqrhZeoNDoX
https://dl.doubtnut.com/l/_3uIvcjQNWWs7


Answer: A

Watch Video Solution

22. The crystalline salt  on heating

loses 55.9 % of its weight. The formula of the

crystalline salt is

A. 

B. 

C. 

D. 

Na2SO4. xH2O

Na2SO4, 5H2O

Na2SO4, 7H2O

Na2SO4, 2H2O

Na2SO4, 10H2O

https://dl.doubtnut.com/l/_3uIvcjQNWWs7
https://dl.doubtnut.com/l/_6hKIXJ484ysU


Assignment Section C Previous Years Questions

Answer: D

Watch Video Solution

1. Suppose the elements X and Y combine to form

two compounds of . When 0.1 mole of

 weighs 10 g and 0.05 mole of  weighs 9 g ,

what are tha atomic masses of X and Y ?

A. 40, 30

B. 60.4

XY2 and X3Y2

XY2 X3Y2

https://dl.doubtnut.com/l/_6hKIXJ484ysU
https://dl.doubtnut.com/l/_5F8TEkPXPDbd


C. 20, 30

D. 30, 20

Answer: A

Watch Video Solution

2. What is the mass of the precipitate formed when

50 mL of 16.9% solution of  is mixed with 50

mL of 5.8% NaCl solution?

A. 7 g

B. 14 g

C. 28 g

AgNO3

https://dl.doubtnut.com/l/_5F8TEkPXPDbd
https://dl.doubtnut.com/l/_kGiReUPpnzdT


D. 3.5 g

Answer: A

Watch Video Solution

3. If Avogadro number  is changed from 

 to , this

would change

A. The ratio of chemical species to each other in a

balanced equation

B. The ratio of elements to each other in a

compound

NA

6.022 × 1023mol− 1 6.022 × 1020mol− 1

https://dl.doubtnut.com/l/_kGiReUPpnzdT
https://dl.doubtnut.com/l/_uZbQumfrvnG2


C. The definition of mass in units of grams

D. The mass of one mole of carbon

Answer: D

Watch Video Solution

4. 20.0 g of a magnesium carbonate sample

decomposes on heating to give carbon dioxide and

8.0 g magnesium oxide. What be the percentage

purity of magnsesium carbonate in the sample?

A. 60

B. 84

https://dl.doubtnut.com/l/_uZbQumfrvnG2
https://dl.doubtnut.com/l/_49cxpWOsaFpL


C. 75

D. 96

Answer: B

Watch Video Solution

5. A mixture of gases contains  and  gases in

the ratio of . What is the molar ratio of

the two gases in the mixture?

A. 2:1

B. 1 : 4

C. 4:1

H2 O2

1: 4(w/w)

https://dl.doubtnut.com/l/_49cxpWOsaFpL
https://dl.doubtnut.com/l/_Un7Ko7M2Dmr4


D. 16:1

Answer: C

Watch Video Solution

6. 1.0 g of magnesium is burnt with 0.56 g  in a

closed vessel. Which reactant is left in excess and

how much?

A. Mg, 0.16 g

B. 

C. Mg, 0.44 g

D. 

O2

O20.16g

O20.28g

https://dl.doubtnut.com/l/_Un7Ko7M2Dmr4
https://dl.doubtnut.com/l/_sI2tdEPtM2zU


Answer: A

Watch Video Solution

7. When  of  is mixed with 11.2 of ,

each at STP, the moles of HCl(g) formed is equal to

A. 1 mol of HCI (g)

B. 2 mol of HCI (g)

C. 0.5 mol of HCI (g)

D. 1.5 mol of HCI (g)

Answer: A

h id l i

22.4L H2(g) Cl2(g)

https://dl.doubtnut.com/l/_sI2tdEPtM2zU
https://dl.doubtnut.com/l/_7i9Y9D4h4oIm


Watch Video Solution

8.  molecules of urea are present in 100

ml of its solution. The concentration of solution is :

A. 0.01 M

B. 0.001 M

C. 0.1 M

D. 0.02 M

Answer: A

Watch Video Solution

6.02 × 1020

https://dl.doubtnut.com/l/_7i9Y9D4h4oIm
https://dl.doubtnut.com/l/_gtmhmrLGQ9TT
https://dl.doubtnut.com/l/_YN5gvhsnAD7T


9. How many grams of concentrated nitric acid

solution should be used to prepare  of

? The concentrated acid is :

A. 90.0 g conc. 

B. 70.0 g conc. 

C. 54.0 g conc. 

D. 45.0 g conc. 

Answer: D

Watch Video Solution

250mL

2.0MHNO3 70 % HNO3

HNO3

HNO3

HNO3

HNO3

https://dl.doubtnut.com/l/_YN5gvhsnAD7T


10. Mole fraction of the solute in 1.00 molal aqueous

solution is-

A. 1.77

B. 0.177

C. 0.0177

D. 0.0344

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_z9m9ABYJjuyI


11. Which has the maximum number of molecules

among the following?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

8gH2

64gSO4

44gCO2

48gO3

https://dl.doubtnut.com/l/_db7GzSZ8X4pR


12. The number of atoms in 0.1 mol of a triatomic gas

is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

6.026 × 1022

1.806 × 1023

3.600 × 1023

1.800 × 1022

https://dl.doubtnut.com/l/_CE7v0La6uZkt


13. 25.3 g of sodium carbonate,  is dissolved

in enough water to make 250 mL of solution. If

sodium carbonate dissociates completely, molar

concentration of sodium ions,  and carbonate

ions,  are respectively (Molar mass of 

)

A. 0.955 M and 1.910 M

B. 1.910 M and 0.955 M

C. 1.90 M and 1.910 M

D. 0.477 M and 0.477 M

Answer: B

Na2CO3

Na +

CO2 −
3

NaCO3 = 106gmol− 1

https://dl.doubtnut.com/l/_z4Ea86WF91gC


Watch Video Solution

14. 10 g of hydrogen and 64 g of oxygen were filled in

a steel vessel and exploded. Amount of water

produced in this reaction will be

A. 3 mol

B. 4 mol

C. 1 mol

D. 2 mol

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_z4Ea86WF91gC
https://dl.doubtnut.com/l/_qObo3UgEkZgg


15. How many moles of lead (II) chloride will be

formed from a reaction between 6.5 g of PbO and 3.2

g of HCl?

A. 0.029

B. 0.044

C. 0.333

D. 0.011

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_4gwcYvOuhP6y


16. Volume occupied by one molecule of water

(density = 1 g )

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cm − 3

5.5 × 10− 23cm3

9.0 × 10− 23cm3

6.023 × 10− 23cm3

3.0 × 10− 23cm3

https://dl.doubtnut.com/l/_dWYES8ZFRkpn


17. What volume of oxygen gas  measured at 

 and 1 atm is needed to burn completely  of

propane gas  measured under the same

condition?

A. 10 L

B. 7L

C. 6 L

D. 5 L

Answer: D

Watch Video Solution

(O2)

0∘ C 1L

(C3H8)

https://dl.doubtnut.com/l/_tuXPnzGKLBPm
https://dl.doubtnut.com/l/_VAEctgMyNR34


18. An organic compound contains carbon, hydrogen

and oxygen. Its elemental analysis gave

and . The empirical formula of the

compound would be 

A. 

B. 

C. 

D. CHO

Answer: B

Watch Video Solution

C, 38.71 %

H, 9.67 %

:

CH4O

CH3O

CH2O

https://dl.doubtnut.com/l/_VAEctgMyNR34
https://dl.doubtnut.com/l/_WoBzpUqDGGDF


19. An element X has the following isotopic

composition: 

 


The weight average atomic mass of the naturally

occurring element X is closest to

A. 199 amu

B. 200 amu.

C. 201 amu

D. 202 amu

Answer: B

Watch Video Solution

.200 X : 90 % .199 X : 8.0 % .202 X : 2.0 %

https://dl.doubtnut.com/l/_WoBzpUqDGGDF


20. Concentrated aqueous solution of sulphuric acid

is  by mass and has density of .

What is the volume of acid required to make one liter

 solution ?

A. 5.55 mL

B. 11.10 ml

C. 16.65 mL

D. 16.65 mL

Answer: A

Watch Video Solution

98 % 1.80g mL− 1

0.1MH2SO4

https://dl.doubtnut.com/l/_3TAGefygGdEl
https://dl.doubtnut.com/l/_MhkqtKo1r3lQ


21. How much grams of  should be dissolved

in water for preparing 150 ml of 2.0 M 

solution ?

A. 

B. 

C. 9.6

D. 2.4

Answer: C

Watch Video Solution

CH3OH

CH3OH

9.6 × 103

2.4 × 103

https://dl.doubtnut.com/l/_MhkqtKo1r3lQ


22. The total number of valence electrons in  of 

 ion are :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4. 2g

N −
3

2.1NA

4.2NA

1.6NA

3.2NA

https://dl.doubtnut.com/l/_iIMOBQ7HqHQU


23. The number of moles of oxygen in 1 L of air

containing  oxygen by volume , under standard

conditions , is

A. 0.0093 mole

B. 2.10 moles

C. 0.186 mole

D. 21 mole

Answer: A

Watch Video Solution

21 %

https://dl.doubtnut.com/l/_H9Oucck4Q2tx


24. The amount of zinc required to produce 224 ml of

 at STP on treatment with dilute  will be

(Zn = 65)

A. 65 g

B. 0.065 g

C. 0.65 g

D. 6.5 g

Answer: C

Watch Video Solution

H2 H2SO4

https://dl.doubtnut.com/l/_kSZ2kQV2d0vi


25. Given the number: 161 cm, 0.161 cm, 0.0161 cm. The

number of significant figures for the three numbers

are

A. 3, 3 and 4 respectively

B. 3, 4 and 4 respectively

C. 3, 4 and 5 respectively

D. 3, 3 and 3 respectively

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_UYQCgOtwTRRc


26. 100 mL of `PH_(3) on decomposition produced

phosphorus and hydrogen. The change in volume is :-

A. Increase in 50 ml

B. Decrease in 50 mL

C. Increase in 150 mL

D. Decrease in 200 ml

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PEd3MqYqdej2


27. In the reaction,

, when 1

mole of ammonia and 1 mole of  are made to react

to completion

A. All the oxygen will be consumed

B. 1.0 mole of NO will be produced

C. 1.0 mole of  is produced

D. All the ammonia will be consumed

Answer: A

Watch Video Solution

4NH3(g) + 5O2(g) → 4NO(g) + 6H2O(g)

O2

H2O

https://dl.doubtnut.com/l/_MDJioD7os666
https://dl.doubtnut.com/l/_CrurmWzOKBmF


28. An organic compound containing C,H and N gave

the following analysis 

C=40 %,H=13.33 %,N=46.67 % 

What would be its empirical formula ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH4N

CH5N

C2H7N2

C2H7N

https://dl.doubtnut.com/l/_CrurmWzOKBmF
https://dl.doubtnut.com/l/_aZ5BA9kDCDzg


29. How many g of dibasic acid (mol.wt.  should

be present in of its aqueous solution to give

decinormal strength?

A. 10 g

B. 2 g

C. 1g

D. 20 g

Answer: C

Watch Video Solution

200)

100ml

https://dl.doubtnut.com/l/_aZ5BA9kDCDzg


30. The number of atoms in 4.25 g of  is

approximately

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NH3

4 × 1023

2 × 1023

1 × 1023

6 × 1023

https://dl.doubtnut.com/l/_jeae92bL2dYY


31. Volume of  obtained at STP by the complete

decomposition of 9.85 gm  is (Mol. wt. of 

)

A. 2.24 litre

B. 1.12 litre

C. 0.85 litre

D. 0.56 litre

Answer: C

Watch Video Solution

CO2

BaCO3

BaCO3 = 197

https://dl.doubtnut.com/l/_ZWeik4QfCKPT


32. Percentage of Se in peroxidase anhydrase enzyme

is  by weight (at. Wt. , then minimum

molecular weight of peroxidase anhydrase enzyme is:

A. 

B. 

C. 15.68

D. 

Answer: A

Watch Video Solution

0.5 % = 78.4)

1.568 × 104

1.568 × 103

2.136 × 104

https://dl.doubtnut.com/l/_gLhFxZy2ALl2


33. 2.5 litre of 1 M NaOH solution are mixed with

another 3 litre of 0.5 M NaOH solution Then the

molarity of the resulting

A. 0.80 M

B. 1.0 M

C. 0.73 M

D. 0.50 M

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_g3ODjSRk0rL2


34. Which has maximum number of molecules?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

7gmN2

2gmH2

16gmNO2

16gmO2

35. In Haber process 30 litre of dihydrogen and 30

litres of dinitrogen were taken for reaction which

https://dl.doubtnut.com/l/_IyFiKHQ6PGlQ
https://dl.doubtnut.com/l/_9EoXrL4Fr6bq


yielded only  of the expected product. What will

be the composition of gaseous mixture under the

aforesaid condition in the end ?

A. 20 litres ammonia, 20 litres nitrogen, 20 litres

hydrogen

B. 10 litres ammonia, 25 litres nitrogen, 15 litres

hydrogen

C. 20 litres ammonia, 10 litres nitrogen, 30 litres

hydrogen

D. 20 litres ammonia, 25 litres nitrogen, 15 litres

hydrogen

50 %

https://dl.doubtnut.com/l/_9EoXrL4Fr6bq


Answer: B

Watch Video Solution

36. The maximum number of molecules is present in

A. 15 L of water at STP

B. 15 L of  gas at STP

C. 15 g of ice

D. Same in all

Answer: A

Watch Video Solution

H2O

https://dl.doubtnut.com/l/_9EoXrL4Fr6bq
https://dl.doubtnut.com/l/_ORrYYmniz71e


37. Concentrated aqueous sulphuric acid is 98%

 by weight and has a density of .

Molarity of solution

A. 1 M

B. 1.8 M

C. 18 M

D. 1.5 M

Answer: C

Watch Video Solution

H2SO4 1.80gmL− 1

https://dl.doubtnut.com/l/_ORrYYmniz71e
https://dl.doubtnut.com/l/_nh2QibQcJO95
https://dl.doubtnut.com/l/_8oPTUAbf62Bb


38. An element, X has the following isotopic

composition . The

weighted average atomic mass of the

naturallyoccurring element X is closest to

A. 56.14 amu

B. 56.8 amu

C. 60 amu

D. 55 amu

Answer: A

Watch Video Solution

56X : 90 % 57X : 8 % 57X : 2.0 %

https://dl.doubtnut.com/l/_8oPTUAbf62Bb


39. 10 g of hydrogen and 64 g of oxygen were filled in

a steel vessel and exploded. Volume of gaseous

product after reaction

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 × 22.4L

2 × 22.4L

3 × 22.4L

4 × 22.4L

https://dl.doubtnut.com/l/_aoNEAcFWM9WB


40. What is the  in the final solution

prepared by mixing  of  with 

 of ?

A. 0.12 M

B. 0.10 M

C. 0.40 M

D. 0.0050 M

Answer: B

Watch Video Solution

[OH − ]

20.0mL 0.050MHCl

30.0mL 0.10MBa(OH)2

https://dl.doubtnut.com/l/_mAPX9zaTd2nq


41. The number of atoms in 0.1 mol of a triatomic gas

is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.800 × 1022

6.026 × 1022

1.806 × 1023

3.600 × 1023

https://dl.doubtnut.com/l/_b7YCfiXUOEr6


42. The total number of electrons in 2.0 g of  to

that in 1.8 g of 

A. Double

B. Same

C. Triple

D. One fourth

Answer: B

Watch Video Solution

D2O

H2O

https://dl.doubtnut.com/l/_5vWmNfrIOplB


43. From 200 mg of  when x molecules are

removed,  moles of  are left. x will be

A.  molecules

B.  molecules

C. 21 molecules

D.  molecules

Answer: D

Watch Video Solution

CO2

2.89 × 10− 3 CO2

1020

1010

1021

https://dl.doubtnut.com/l/_c6iAseuBQ1wF


44. If the weight of metal oxide is x g containing y g

of oxygen, the equivalent weight of metal will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

E =
8x

y

E =
8(y − x)

x

E =
y

8

E =
8(x − y)

y

https://dl.doubtnut.com/l/_FVSp6TBhuReZ


45. Give the number of significant figures 

A. 8

B. 4

C. 7

D. 1

Answer: B

Watch Video Solution

2.653 × 104

https://dl.doubtnut.com/l/_hpHyJfTB1zeZ


Assignment Section D Assertion Reason Type Questions

46. Mole fraction of solute in aqueous solution of

30% NaOH.

A. 0.16

B. 0.05

C. 0.25

D. 0.95

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_EE21bPo2sCgw
https://dl.doubtnut.com/l/_AvO8gsNtAzaK


1. A:  gram. 


R: Actual mass of one atom of C-12 is equal to

A. If both Assertion & Reason are true and the

reason is the correct explanation of the

assertion

B. If both Assertion & Reason are true but the

reason is not the correct explanation of the

assertion

C. If Assertion is true statement but Reason is

false

1a.m.u. = 1.66 × 10− 24

1.99 × 10− 23g

https://dl.doubtnut.com/l/_AvO8gsNtAzaK


D. If both Assertion and Reason are false

statements

Answer: B

Watch Video Solution

2. A: Unit of specific gravity is gram-  

R: Specific gravity is same as density of a liquid in

normal conditions

A. If both Assertion & Reason are true and the

reason is the correct explanation of the

assertion

cc− 1

https://dl.doubtnut.com/l/_AvO8gsNtAzaK
https://dl.doubtnut.com/l/_i4rUBWbgyitl


B. If both Assertion & Reason are true but the

reason is not the correct explanation of the

assertion

C. If Assertion is true statement but Reason is

false

D. If both Assertion and Reason are false

statements

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_i4rUBWbgyitl


3. A: Number of atoms in 2 mole of  is equal to

number of atoms in 4 mole of  

R: Both are chemically similar species.

A. If both Assertion & Reason are true and the

reason is the correct explanation of the

assertion

B. If both Assertion & Reason are true but the

reason is not the correct explanation of the

assertion

C. If Assertion is true statement but Reason is

false

NH3

CH4

https://dl.doubtnut.com/l/_2gk81ixovCt2


D. If both Assertion and Reason are false

statements

Answer: D

Watch Video Solution

4. A: In the reaction 

 


equivalent weight of  is  where M is its

molecular weight. 

R: 

2NaOH + H3PO4 → Na2HPO4 + 2H2O

H3PO4
M

2

Equivalent weight =
molecular weight

n-factor

https://dl.doubtnut.com/l/_2gk81ixovCt2
https://dl.doubtnut.com/l/_idHb7VgFfRWP


A. If both Assertion & Reason are true and the

reason is the correct explanation of the

assertion

B. If both Assertion & Reason are true but the

reason is not the correct explanation of the

assertion

C. If Assertion is true statement but Reason is

false

D. If both Assertion and Reason are false

statements

Answer: A

https://dl.doubtnut.com/l/_idHb7VgFfRWP


Watch Video Solution

5. A: Mass of 1 gram molecule of  is 98 gram. 


R: One gram atom contains  atoms.

A. If both Assertion & Reason are true and the

reason is the correct explanation of the

assertion

B. If both Assertion & Reason are true but the

reason is not the correct explanation of the

assertion

H2SO4

NA

https://dl.doubtnut.com/l/_idHb7VgFfRWP
https://dl.doubtnut.com/l/_2jl6k4Y8IZzx


C. If Assertion is true statement but Reason is

false

D. If both Assertion and Reason are false

statements

Answer: B

Watch Video Solution

6. A: One mole of sucrose-reacts completely with

oxygen produces 268.8 litre of carbon dioxide at STP. 

R: Amount of oxygen required for reaction is 268.8

litre.

https://dl.doubtnut.com/l/_2jl6k4Y8IZzx
https://dl.doubtnut.com/l/_yXfb8oIoqxx1


A. If both Assertion & Reason are true and the

reason is the correct explanation of the

assertion

B. If both Assertion & Reason are true but the

reason is not the correct explanation of the

assertion

C. If Assertion is true statement but Reason is

false

D. If both Assertion and Reason are false

statements

Answer: B

https://dl.doubtnut.com/l/_yXfb8oIoqxx1


Watch Video Solution

7. A: In the reaction, 

 


equivalents of NaOH,  and  are equal.

R: 

.

A. If both Assertion & Reason are true and the

reason is the correct explanation of the

assertion

2NaOH + H2SO4 → Na2SO4 + 2H2O

Na2SO4 H2SO4

Number of equivalents = number of moles × n-factor

https://dl.doubtnut.com/l/_yXfb8oIoqxx1
https://dl.doubtnut.com/l/_DB2cJNrzXvqP


B. If both Assertion & Reason are true but the

reason is not the correct explanation of the

assertion

C. If Assertion is true statement but Reason is

false

D. If both Assertion and Reason are false

statements

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_DB2cJNrzXvqP


8. A: When 4 moles of  reacts with 2 moles of ,

then 4. moles of water is formed. 

R:  will act as limiting reagent.

A. If both Assertion & Reason are true and the

reason is the correct explanation of the

assertion

B. If both Assertion & Reason are true but the

reason is not the correct explanation of the

assertion

C. If Assertion is true statement but Reason is

false

H2 O2

O2

https://dl.doubtnut.com/l/_eVZJMuW633Vp


D. If both Assertion and Reason are false

statements

Answer: C

Watch Video Solution

9. A: 50 ml, decinormal HCl when mixed with 50 ml,

decinormal , then normality of  ion in

resultant solution is 0.1 N. 

R: Here, 

A. If both Assertion & Reason are true and the

reason is the correct explanation of the

H2SO4 H +

MV = M1V1 − M2V2

https://dl.doubtnut.com/l/_eVZJMuW633Vp
https://dl.doubtnut.com/l/_dd8i8uHAuwdx


assertion

B. If both Assertion & Reason are true but the

reason is not the correct explanation of the

assertion

C. If Assertion is true statement but Reason is

false

D. If both Assertion and Reason are false

statements

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dd8i8uHAuwdx
https://dl.doubtnut.com/l/_HngklTWoBAiQ


10. A : 50 ml, decimolar  when mixed with 50

ml, decimolar NaOH, then normality of resultant

solution is 0.05 N. 

R: Here, 

A. If both Assertion & Reason are true and the

reason is the correct explanation of the

assertion

B. If both Assertion & Reason are true but the

reason is not the correct explanation of the

assertion

C. If Assertion is true statement but Reason is

false

H2SO4

NV = |N1V1 − N2V2|

https://dl.doubtnut.com/l/_HngklTWoBAiQ


D. If both Assertion and Reason are false

statements

Answer: A

Watch Video Solution

11. A : Ratio of empirical formula mass and molecular

formula mass must be a natural number. 

R: `"Molecular formula mass" = nX, X is "empirical

formula mass", where n is the simplest whole

number.

https://dl.doubtnut.com/l/_HngklTWoBAiQ
https://dl.doubtnut.com/l/_qNQnUEuLNSPF


A. If both Assertion & Reason are true and the

reason is the correct explanation of the

assertion

B. If both Assertion & Reason are true but the

reason is not the correct explanation of the

assertion

C. If Assertion is true statement but Reason is

false

D. If both Assertion and Reason are false

statements

Answer: B

https://dl.doubtnut.com/l/_qNQnUEuLNSPF


Watch Video Solution

12. A: For a given solution (density ), molality

is greater than molarity. 

R: Molarity involves volume of solution while molality

involves mass of solvent.

A. If both Assertion & Reason are true and the

reason is the correct explanation of the

assertion

B. If both Assertion & Reason are true but the

reason is not the correct explanation of the

assertion

1gm /ml

https://dl.doubtnut.com/l/_qNQnUEuLNSPF
https://dl.doubtnut.com/l/_SyPfnibDTfFr


C. If Assertion is true statement but Reason is

false

D. If both Assertion and Reason are false

statements

Answer: A

Watch Video Solution

13. A: 1 gram of salt in  of solution has

concentration of 1 ppm. 

R: ppm is defined as number of parts by mass of

solute per million parts of solution.

1m3

https://dl.doubtnut.com/l/_SyPfnibDTfFr
https://dl.doubtnut.com/l/_uSj16o0b6w0l


A. If both Assertion & Reason are true and the

reason is the correct explanation of the

assertion

B. If both Assertion & Reason are true but the

reason is not the correct explanation of the

assertion

C. If Assertion is true statement but Reason is

false

D. If both Assertion and Reason are false

statements

Answer: A

https://dl.doubtnut.com/l/_uSj16o0b6w0l


Watch Video Solution

14. A: Total charge on  ions of  is 

coulomb. 

R : Charge on one electron is 96500 coulomb.

A. If both Assertion & Reason are true and the

reason is the correct explanation of the

assertion

B. If both Assertion & Reason are true but the

reason is not the correct explanation of the

assertion

NA CO2 −
3 1.93 × 105

https://dl.doubtnut.com/l/_uSj16o0b6w0l
https://dl.doubtnut.com/l/_kS3CynxYLvgb


C. If Assertion is true statement but Reason is

false

D. If both Assertion and Reason are false

statements

Answer: C

Watch Video Solution

15. A: Number of ions in 9 gram of  is equal to

Avogadro's number ( ). 


R: Number of ions is equal to number of atoms.

NH
+

4

NA

https://dl.doubtnut.com/l/_kS3CynxYLvgb
https://dl.doubtnut.com/l/_u0LBM4inIkj4


A. If both Assertion & Reason are true and the

reason is the correct explanation of the

assertion

B. If both Assertion & Reason are true but the

reason is not the correct explanation of the

assertion

C. If Assertion is true statement but Reason is

false

D. If both Assertion and Reason are false

statements

Answer: D

https://dl.doubtnut.com/l/_u0LBM4inIkj4


Watch Video Solution

https://dl.doubtnut.com/l/_u0LBM4inIkj4

